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BECC–110 : INTRODUCTORY  

ECONOMETRICS 
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Note : Answer questions from each Section as per 

instructions. 

Section—A 

Note : Answer any two questions from this Section.  

  2×20=40 

1. (a) Explain the assumptions of Classical 

Regression Model. Use appropriate 

diagrams.   

D–3284/BECC–110   P. T. O. 



 [ 2 ] BECC–110 

(b) How do we estimate the parameters as per 

the ordinary least squares method ? 

2. What are the consequences of  

multicollinearity ? How can we detect 

multicollinearity ?  

3. What do you understand by the term 

‘autocorrelation’ ? Explain the reasons for the 

presence of autocorrelation. What are the 

remedial measures for autocorrelation ? 

4. Explain ‘model specification’. What are the 

consequences of specification errors ? 

Section—B 

Note : Answer any four questions from this Section. 

4×12=48  

5. Explain the process of hypothesis testing. What 

are the various estimation methods ? 
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6. What do you understand by the term ‘Sample 

Regression Function’ ? Explain.  

7. What is the relationship between coefficient of 

determination and F-statistic of goodness of  

fit ? 

8. Explain the regression model with intercept 

and regression model without intercept. Bring 

out the difference between these two variations 

of a regression model. 

9. What do you understand by adjusted-R2 ? How 

is the adjusted-R2 different from R2 ? 

10. When do we use Analysis of Covariance 

(ANCOVA) ? How is ANCOVA different from 

ANOVA ?  

11. Distinguish between homoscedasticity and 

heteroscedasticity. Use appropriate diagrams.  
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Section—C 

12. Write short notes on any two of the following :  

2×6=12  

(a) Normal distribution 

(b) Interactive dummy variable 

(c) Imperfect multicollinearity 

(d) Interval estimation 
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      BECC–110 

ch- ,- (vkWulZ) vFkZ'kkL=k   

(ch- ,- bZ- lh- ,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 
ch-bZ-lh-lh-–110 % izkjfEHkd vFkZfefr 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % izR;sd Hkkx esa ls iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A  

Hkkx&v 

uk sV % bl Hkkx esa ls fdUgha n k s iz'uksa ds mÙkj nhft,A  

2×20=40 

1- (v) ikjaifjd lekJ;.k ekWMy dh vo/kj.kkvksa 

(ekU;rkvksa) dh O;k[;k dhft,A mi;qDr fp=kksa 

dk iz;ksx dhft,A  
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(c) ge lk/kj.k U;wure oxZ fof/ }kjk izkpyksa dk 

vkdyu dSls djrs gSa \ 

2- cgqlajs[krk ds D;k ifj.kke gSa \ ge cgqlajs[krk dk 

irk dSls yxkrs gSa \  

3- ^LolglEcU/* 'kCn ls vki D;k le>rs gSa \ 

LolglEcU/ dh mifLFkfr ds dkj.kkas dh O;k[;k 

dhft,A LolglEcU/ ds fy, mipkjkRed mik; D;k 

gSa \ 

4- ^ekWMy ds fofuZns'ku* dh O;k[;k dhft,A fofunsZ'ku 

=kqfV;ksa ds D;k ifj.kke gksrs gSa \ 

Hkkx&c 

uk sV % bl Hkkx esa ls fdUgha p kj iz'uksa ds mÙkj nhft,A  

4×12=48 
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5- ifjdYiuk ijh{k.k dh izfØ;k dh O;k[;k dhft,A 

fofHkUu vkdyu fof/;k¡ D;k gSa \ 

6- ^izfrn'kZ lekJ;.k iQyu* in ls vki D;k le>rs  

gSa \ Li"V dhft,A 

7- fu/kZj.k xq.kkad rFkk lqekudrk gsrq F-izfrn'kZt ds 

chp D;k lEcU/ gS \ 

8- vojks/u ds lkFk lekJ;.k ekWMy vkSj vojks/u ds 

fcuk lekJ;.k ekWMy dh O;k[;k dhft,A bu nks 

izdkj ds lekJ;.k ekWMyksa esa varj Li"V dhft,A 

9- lek;ksftr&R2 ls vki D;k le>rs gSa \  

lek;ksftr& R2, R2  ls fdl izdkj fHkUu gS \ 

10- ge lgizlj.k ds fo'ys"k.k (ANCOVA) dk mi;ksx 

dc djrs gSa \ ANCOVA, fopj.k ds fo'ys"k.k 

(ANOVA) ls dSls fHkUu gS \ 
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11- lefolkfjrk vkSj fo"kefolkfjrk ds chp varj Li"V 

dhft,A mfpr js[kkfp=kksa dk mi;ksx dhft,A 

Hkkx&l 

12- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   2×6=12 

(v) lkekU; forj.k (izlkekU; caVu) 

(c) vU;ksU;fØ;k izfr:i pj 

(l) viw.kZ cgqlajs[krk 

(n) varjky vkdyu 

 

 

 

 

 

× × × × × × × 

D–3284/BECC–110   


